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Boat A’s position is given by
2(t) =3—1, y(t) =2t —4 where the distance
units are kilometres and the time units are hours.
Boat B’s position is given by
2(t) =4—3t, y(t) =32t
a Find the initial position of ach boat.
b Find the velocity vector of cach boat.
¢ What s the angle between the paths of the boats?
d At what time arc the boats closest to cach other?
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LineQpis (3)=(2)+r(lo): tmeQris (3)=(2)+s(%) and
tine PRis (7) = () +¢ (%) where r, s and t are soalars.

Triangle PQR is formed by these lines.
a Use vector methods to find the coordinates of P, Q and R.

b Find vectors PQ and PR and evaluate PQ e PR.
¢ Hence, find the size of £QPR.
d Find the arca of APQR.





Bost A's posiion i given by
() =34, 40 =214 whero the diance
nits e Kiomeres nd e time s ae burs.
Bont B' posiion i given by

() =43 y(0=3- 21

" Find tho il position ofcachbost.

. Find th veoctyvector of eachbost.

€ What s the anle betwocn the pats of the bous?
& At what e ar the ot closst 0 ach thr?




